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Q:1 What will come in place of question mark (?)
in the following question?

5% of 52 x 122 =140 = 2 x ?

1.15

2.25

3.22

b.24

Q:2 What will come in place of question mark (?)
in the following question?

(?-2)+04=165+3
1.20
2.30
3.24
5. 25

Q:3 What will come in place of question mark (?)
in the following question?

[9/4+4] x8=?x10
1.10
2.8
3.6
5.4

Q:4 What will come in place of question mark (?)
in the following question?

225+25x8-12="7
1.100
2.80
3.40
5. 60

Q:5 What will come in place of question mark (?)
in the following question?

24 x 2?2 =20x5x 6

1. 20

2.25

3.18

5.28

Q:6 What will come in place of question mark (?)
in the following question?

14 x 627 + /1089 = (?)3 + 141
1.5

2.10

3.15

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal

QO +91 - 8436586516, +91-8436900456
B thedhronas@gmail.com
@ thedronas.com

RONAS

Ensuring success through skills

WB Civil Services

Quantitative Aptitude - Simplification

DOSE

[_cost |

English

Other Competitive Exams

5.25

Q:7 What will come in place of question mark (?)
in the following question?

27 - 162 - (273 +281) + 2] = ?
1. 48
2.50
3.52
5. 44

Q:8 What will come in place of question mark (?)
in the following question?

2.25% of (80% of 800) - 1.5% of (60% of 800) = ?
1.7

2.7.2

3.74

5.7.8

Q:9 Directions: What will come in place of question
mark (?) in the following question?

45 + 2350 +1458 -1768 x 0.5 =7?

1.33.14

2.33.34

3.3354

5.33.94

Q:10 Directions: What will come in place of
question mark (?) in the following question?

{(7.29 x 2.7) 1000} x 10% = (?)3x 1073
1. 33
2. 32
3.3
5.0
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Answer Key =266 = (?)3 +141

=125 = (?)3
1. (4) 2. (3) 3. (4) 4. (5) 5. (2) =>?=5
6. (1) 7.(1) 8. (2) 9. (4) 10. (1)

Q:7 The correct answer is Option 1i.e. 48.
IAnswers and Solutions 27 - [16? - (273 + 28]) +2] =7

Using the BODMAS rule:
Q:1 The correct answer is option 4 i.e. 20. =27 - [256 - 554/2] = ?
5%of52x]22—]4022x? =27-256+277 =7
Applying the BODMAS rule, =7 =48
= 0.05 x 25 x 144 - 140 = 2 x ? _ o
=195 %144 —140 =2 x ? Q:8 The correct answer is Option 2 i.e. 7.2.
=180 - 140 = 2 x ? 2.25% of (80% of 800) - 1.5% of (60% of 800) = ?
~40=2x7? Using the BODMAS rule:
=9 =120 > ? = 2.25% of {(80/100) x 800} - 1.6% of

((80/100) x 800)

= ? = 2.25% of 640 — 1.5% of 480

= ? = (2.25/100) x 640 - (1.5/100) x 480
=?2=144-72

Q:2 The correct answer is option 3 i.e. 24
=>(?-2)+04=165+3
=(?-2)+04=55

=>(?-2)=55x%04 >?2=72
=?2=22+2 . ; . :
~?=94 Q:9 The correct answer is Option 4 i.e. 33.74.

45 + 2350+ 1458 -1768 x 0b =7
=45+ 2350 +1458 -884="7

Q:3 The correct answer is option 4 i.e. 5
= 4258 -884="

=[9/4+4] x8=?x10

=>25/4x8="?x10 = ? =3374
= ? =50/10 i : L a3
~9?=5 Q:10 The correct answer is Option1i.e. 3°.

{(7.29 x 2.7) 1000} x10% = (?)3x 1073
= (?)3x 1076 = {(19.683) + 1000}

:4 The correct answer is option 5 i.e. 60
Q P — (?)3x 1075 = 19683 x 107

=225 +25x8-12="7

>9x8-12=7? = (?)°=19683
-?=72-12 = (?)%=(27)3
-~ ?=60 On comparing both sides
=? =27
=>?=33

Q:5 The correct answer is option 2 i.e. 25
=224 x?=20x5x6

=24 x ? =600

=>°?=25

Q:6 The correct answer is Option 1 i.e. b.
14 x 627 + /1089 = (?)3 + 141

Using the BODMAS rule:

=14 x 627 + 33 = (?)% + 141

=14 x19 = (?)3 +141
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